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Instructions / 3 Uell

Candidate must ensure compliance to the instructions mentioned below, else objections shall not be
considered: -

(D

(2)

(3)

(4)

(5)

(6)

All the suggestion should be submitted through ONLINE OBJECTION SUBMISSION SYSTEM only. Physical
or submission through E- Mail of suggestions will not be considered.

Question wise suggestion to be submitted in the prescribed format (proforma) published on the website /
online objection submission system.

All suggestions are to be submitted with reference to the Master Question Paper with provisional answer
key (Master Question Paper), published herewith on the website / online objection submission system.
Objections should be sent referring to the Question, Question No. & options of the Master Question Paper.

Suggestions regarding guestion nos. and options other than provisional answer key (Master Question
Paper) shall not be considered.

Objections and answers suggested by the candidate should be in compliance with the responses given by
him in his answer sheet. Objections shall not be considered, in case, if responses given in the answer sheet
/response sheet and submitted suggestions are differed.

Objection for each question should be made on separate sheet. Objection for more than one question in
single sheet shall not be considered.

GReAR o{lAoll Yot o] Ulctot sRclloll ASEW] AW, WoAel ditil-YAot A A LA LUl Aclld o8l

(1

(2)

(3)

(4)

(5)

(6)

GREAR clitl-yAUsll 55 lolcllefol Blosalol AoiHlalel AU gl % Aolle sclotl VAN, Ul
U F-AFA lRL WALl 5AIRA MW sEclHl WA citl-yAsl taulal Acll AUA o8l Bofl Wi ol Adl.

GREAR citul-YAall ¥ scll AnUEe / Blolclfol woBs9lel Aetalalet AleH UR YRt Udd [ad oiysilsll
% Guallal sl

GREAR Wdlal udletdl HAA YstyRAsHl WA UssHis Yool ditl-yuoll 3 of $cll i citl-yAell
Auge UR YRt A AR BlorR Sl (HIR2R YU oll UstsHls Yool ol A AedHl 2% s,

HReR YsUWHL [Ewe yst Aal [Ascu Rlataioll ditl-yAuoll Ll Al 1 o8l

GREAR Usloll [Aseu UR cltll % A D Aol [Ascu 3U B wcllol YAAA © A ellol GReAR Wcllell G aglHl
UNAA Bl SN, GREAR YUAA ¥cllol A GARcAloll et @ 62 A GREAR Y SV clitil-yUoll t2ulal
A o8l

As Yst HER A5 o cltll-YAot UAS AU, As % citl-yuoll uasHl Asl auR ysloll 19l 53¢t 6 dl d
Aot clltll-YAA U A oigl.

Website link for online objection submission system : http://gpsc.safevaults.in/login/


http://gpsc.safevaults.in/login/

001. AL ol (Yarlung Zangbo) 1€l HIRAMI .......... a3 0 9,

(A) 2idu B) Ry

(C) waryau (D) u8IrEl
002.  AAAAYU A .......... 12l GuR €.

(A) [R-us (B) ¥4H

(©)adl (D) AdAy
003.  &uRd yedl-l awdl-u .......... uldad 2uasl 4 8.

(A)2.4 (B) 3.4

(C) 4.4 (D) 5.4
004. 15221, 2024+ A% MR .......... Hi adAdL [Ba Gogeul.

(A) 76 (B) 77

(©)78 (D) 79

005. 2011l azdl 2@l vgR,
1. 3sRuani adl-l ol 308 uld Al [GaiHle: ©.
2. a1dul (&2 9eiiaR 918 (uaR) 8.
3. YAUAAHL AAAA €2 87.3 (2u2R) .
Gu- WAL s [l aea © ?

(A) 1AL 1 244 2 (B) {17 2 11 3

(C) AL 1 211 3 (D)1, 2 Al 3 AHIH A 89,
006.  uueu A2 ol ugiouS il d-ll dous we-l ARITR .......... 8.

(A) 3:5 B)2:3

(C) 2:4 (D) 3:4
007. Rt UcdlsHl dasdll Al 205 s wsel Una gud’ Aidl Aauni 2uca ¢ ?

(A) B2dg (B) AU GALESL

(€©) 435 GulAue (D) AHIULL
008. QA WA 5y Yreis v wAll-L ulda A2 € ?

(A) 0l (Gita) (B) di1s (Torah)

(C) susnd (Bible) (D) ¢ id2el (Zend Avesta)
009.  als [Rasnudl ‘wyordl’ Adl cudni DA UL su azuni dlsBia o ?

(A) Bri uea (B) A%

(C) Heaus D) [Br812
010. s34 QA uan (M8a) v .......... viid [Rad 69,

(A)sial ey (B) asigll

(C) Hirell (D) dan
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001. The Yarlung Zangbo river, in India, is known as

(A) Ganga (B) Indus

(C) Brahmaputra (D) Mahanadi
002. The Salal Project is on the river

(A) Chenab (B) Jhelum

(C) Ravi (D) Sutlej
003. The percentage of earth surface covered by India is

A) 2.4 (B) 3.4

(©) 44 (D)5.4
004. India Celebrated, th Independence Day on, 15 August, 2024. Fill in the Gap

(A)76 ®) 77

©)78 (D) 79

005. As per census 2011,
1. Density of population in Gujarat is 308 persons / km?
2. Sex ratio of Gujarat is 918 (App.)
3. Literacy rate of Gujarat is 87.3 (App.)

Which of the above mentioned statements are correct?

(A) only 1 and 2 (B) only 2 and 3
(C) only 1 and 3 (D) 1, 2 and 3 all are correct
006. The ratio of width of our National Hag to its length is
(A) 3:5 B) 2:3
(C) 2:4 D) 3:4
007. The words ‘Satyameva Jayate’ inscribed below the base plate of the emblem of India are taken
from
(A) Rigveda (B) Satpath Brahmana
(C) Mundak Upanishad (D) Ramayana
008. Which is Holy book of Parsis?
(A) Gita (B) Torah
(C) Bible (D) Zend Avesta
009. ‘Madhubani’, a style of folk paintings, is popular in which of the following states in India?
(A) Uttar Pradesh (B) Rajasthan
(C) Madhya Pradesh (D) Bihar
010. Kusum Vilas Palace is located at
(A) Chotta Udepur (B) Vadodara
(C) Morbi (D) Veraval
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011.

012.

013.

014.

015.

016.

017.

018.

019.

AUS A 41 S0UAL HSLL 2UAUELAL A2 AL A1 TA sUL A% AL Sl ?

A) s1R8121 (Karkota) (B) Geud (Utpala)

(€©)uMIR (Parmara) (D) %2 U[d8IR (Gurjar Pratihara)

Bl uoaale £R0A GURAL 24U™s Hidl (economic drain of India) -il Rugid .......... gl2L
uldulga scusi stel g

(A) FUSRAE 183 B) cre1cud AcRi®

(C) 2uR. Al enl (D) ¢Ax. 3. i)

wAllg Ys ... Hi a3y ed.

(A)1757 (B) 1782

(C) 1748 (D) 1764

Hesl A el uaiens udlandl ugla-dl Agilds 11512 su1 Al s04T 20l 8dl ?

(A) 1833 (B) 1853

(C) 1858 (D) 1882

[Aoruroi-n wus goagaiasl 5la Aysd HIREL A .......... @i 8l

(A) U (B) dlan

(C) 513 () KR}

A, 5 P AUI2 IR AU 2UAE Sell UTg duA A% 6121 A1 ysanll s2aumi vuadl 4 edl, 214 dud
HUAAGLEIRL AL SAE Y5AUUL UL 8l d ... Adls 2NvULAL Sdl.

(A) ardiugl (Walashahi) B) spuadl (Barawardi)

(C) 538\ (Jeumaki) (D) el (Dakhili)

A2 UL sUL S HAS A “UOAEY3 Al GSIRAH HEIRLY SAUS HAS” LS WH Leddl W2 Al 53E
87

(A) 1oy saus was (B) 4Bl s Has

(C) Ho1d saus Has (D) AZonsUE U HAS

U 22 KA AU AR AR Al’d, AARAAHI .......... 22l a3t st vul oroun yai.
(A) 365 B) 366

(C) 367 (D) 368

MURAHL Skl olloL sl ... GIRL SAUHL 214 69,

1. A-24 65 uis SRl

2. Ao 65 wiis SR

3. 2 65 vis SRl

4. 4ot RQnd ols

A)1,2 ®)2
©)1 D) 2,3
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011.

012.

013.

014.

015.

016.

017.

018.

019.

To which of the following dynasties did King Bhoja, a great patron of literature and art belong?
(A) Karkola (B) Utpala

(C) Paramara (D) Gurjara Pratihara

The theory of economic drain of India during British imperialism was propounded by

(A) Jawaharlal Nehru (B) Dadabhai Naoroji

(O) R. C. Dutt (D) M. K. Gandhi

The Battle of Plassey was fought in

(A) 1757 (B) 1782

(C) 1748 (D) 1764

The system of competitive examination for civil service was accepted in principle in the year
(A) 1833 (B) 1853

(C) 1858 (D) 1882

The Vijayanagara ruler, Kirshnadev Raya’s work Amukiamalyacla, was in

(A) Sanskrit (B) Tamil

(C) Kannada (D) Telugu

The troops raised by the emperor but not paid directly by the state and place under the charge
of mansahadars were known as

(A) Walashahi (B) Barawardi

(C) JCumaki (D) Dakhili

Which airport is set to be renamed “Jagadguru Sant Tukaram Maharaj Airport”?

(A) Nagpur airport (B) Pune airport

(C) Mumbai airport (D) Aurangabad airport

When the country became independent, there were princely states in Gujarat, including
Saurashtra.

(A) 365 (B) 366

(C) 367 (D) 368

The central banking functions in India are performed by the
1. Central Bank of India

2. Reserve Bank of India

3. State Bank of India

4. Punjab National Bank

A)1,2 B)2

o1 D)2,3
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020.

021.

022.

023.

024.

025.

026.

027.

028.

c

Alez-21%3 HIS2 (Gilt-edged market) ~ll 218
(A) eydlust Hi52 (bullion market)

(B) w512 L0 HiSe (market of government securities)
(C) Guns 1 H152 (market of guns)

(D) Y& gl Hi52 (market of pure metals)

CTER R Ui Russirl o uglani uRaldq as o,

(A) 2l 1956 (B) x\[(Ba 1957

(C) »ilha 1958 (D) 2§l 1959

OLHIRRL AGUHI .......... AL A% 6{1REL SIRANT U, BIAUH] U, 27 2UURAA 2UUUHT 20,
(A) 261l n=y>1dl, 1949 (B) 2631 3, 1949

(C) 26Ml 241212, 1949 (D) 264 AR, 1949

A2 [Quuazg 21 sau-l A8 suda 6. 56 Al dlou dd Al =l ?

(A) 14 - SIUEL AHEL AHIAAL

(B) 19 - all 2aud=u adlR Aid)l 2135 85l @

(C) 21 - @A, i A5 AdAdL, @8l

(D) 25 - s1RviAL AU sunsiA LS AvaL-l wldsiy

A2 2uia [Quaarg 29 sadia aoa-lla-u woleds Rugldiul s23a Gedvinl 2uR Astil.
1. 39 - A%l vigararl Ald-w 2135 Rigidl

2. 44 - RS 1S s urir gl s1uEl

(A) WA 1 01y 8. (B) WAL 2 Y 8.

(©)'1 a2 oid i 9. (D) 1 a2 2 i i Al
dadl due A .......... fl oA ef) gal.

(A) guld (B) sui-l ulRug

(C) dlsueu D) (A), (B) dal (C) axiH

R Aue-l o5 A L i, R Auld a2g sHL WRg sl At 56 saH vddld 2uuaHi 2udl
8 ?

(A) 120 (B) 121

(©)123 (D) 124

.......... L % 36l 62 YAR 53 AL YL A Adl NITI 204191 (National Institution
for Transforming India)-{l 22wu-u $3).

(A)1 2yl 2015 (B) 1 y2u<l 2016

(C) 1 2A-y>usl 2017 (D) 1 2~y 2018

QAR sIRLGUL A s sUsid-l Bedu GURAL GiHIRRIL $8 AU ST 2udd €9 ?
(A) 46 (B) 47

(C) 49 D) 50
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020.

021.

022.

023.

024.

025S.

026.

027.

028.

Gilt-edged market means

(A) bullion market

(B) market of government securities
(C) market of guns

(D) market of pure metals

India changed over to the decimal system of coinage in

(A) April 1956 (B) April 1957

(C) April 1958 (D) April 1959

In the constituent assembly, this constitution was adopted enacted and given to ourselves on
(A) 26" January, 1949 (B) 26t March, 1949

(C) 26™ August. 1949 (D) 26" November, 1949

The pairs showing the contents and the article are mentioned below. Which pair is not correct?
(A) 14 - Equality before law.

(B) 19 - Protection of certain rights regarding freedom of speech, etc.

(C) 21 - Protection of life and personal liberty.

(D) 25 - Prohibition of employment of children in factories, etc.

Evaluate the contents and the Articles mentioned in DIRECTIVE PRINCIPLES OF STATE
POLICY.

1. 39 - Certain principles of policy to be followed by the State.

2. 44 - Uniform civil code for the citizens.

(A) only 1 is correct (B) only 2 is correct

(C) both 1 and 2 are correct (D) both 1 and 2 are not correct
A Parliament for the Union, shall consist of

(A) the President (B) the Council of States

(C) the House of the People D) (A), (B) and (C) all

Power of President to promulgate Ordinances during recess of Parliament, is mentioned under
which article?

(A) 120 B) 121

(©) 123 D) 124

On , a Cabinet resolution was passed, to replace the Planning Commission with the newly
formed NITI Aayog. (National Institution for Transforming India)

(A)'1 January 2015 (B) 1 January 2016

(O) 1 January 2017 (D) 1 January 2018

Separation of judiciary from executive is mentioned, under which article of Indian constitution?
(A) 46 (B) 47

)49 D) 50
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029.

030.

031.

032,

033.

034.

03s.

036.

037.

038.

039.

el ewRw HRtg el i [Ri=1e 2 Yeelliani [RlRd sa1 susia-dl Gedv aurdrL it 58
SAHUL AL 20da & ?

(A) 322 (B) 323

(©)324 (D) 325

sedlu Wl 2uaiadl 21 sl scumi »udl ?

(A) 12-10-2003 (B) 12-10-2004

(€) 12-10-2005 (D) 12-10-2006
Sl sl gl 81 I8 saumi [Anio (Brass) 24 2ol ag onu 8.
(A) iAo B) 1531 ues153
(C) s16i1 1ais8 3 (D) w2l

D2 WAL i wmea -us alelloy 1031 8 ?

(A) i flun swi-e (B) 3cllun suasioiiie
(C) ALSlun cuasiei-e (D) 3eellum sieiide

Al SUARAIRA HuALL sy UL ?

(A) 4ot (Coulomb) (B) €4 (Hum)

(C) A4 (Cycles) (D) 30le1e (Decibel)

YRARunAL sul unaAs 2 guen wlalzuid esidl avarll axd 4 © ?

(A) U-235 (B) U-245

(C) U-239 (D) U-238

Epoxy 4 2 .......... a3 Gualami dauy 69,

(A) flerog~2 (detergents) B) %’g-uus (insecticides)
(©)¥138\a (adhesives) (D) ucollun €2 527U (moth repellents)
MOV extension 1 1M1= Zld 521 W1+ s e AeMui 8 ?

(A) Image s19d (B) Animation / movie s19a

(C) Audio 5154 (D) MS U3 SisyH-2
VVVF{y3ung e ?

(A) Variant Voltage Vile Frequency (B) Variable Velocity Variable Fun
(C) Very Very Vicious Frequency (D) Variable Voltage Variable Frequency

Attty A WA 53 2R 3 2R 2R HAA B, 3 % WR Aieicll (Ultra violet) (UV) Ustag lual
S HIE YAGER €9 ?

(A) 8™ {3 (Troposphere) (B) &y H3N (Mesosphere)
(€) U, Hin (Stratosphere) (D) Bu-i U4l 15 ua ]
URd WA 2ueel dd Fora-l gl vieid esiudl s2dl idl A ?

(A) 15% (B) 50%

(C) 44% 0)33%
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029.

030.

031.

032.

033.

034.

03s.

036.

037.

038.

039.

The provision for Superintendence, direction and control of elections to be vested in an Flection
Commission, is mentioned which article of Indian Constitution?

(A) 322 (B) 323

(©) 324 (D) 325

The Central Information Commission has been constituted with effect from
(A) 12-10-2003 (B) 12-10-2004

(©) 12-10-2005 (D) 12-10-2006

Brass gels discoloured in air because of the presence of which of the following gases in air?
(A) Oxygen (B) Hydrogen sulphide

(C) Carbon dioxide (D) Nitrogen

Washing soda is the common name for

(A) Sodium carbonate (B) Calcium bicarbonate

(C) Sodium bicarbonate (D) Calcium carbonate

What is the unit for measuring the amplitude of a sound?

(A) Coulomb (B) Hum

(O) Cycles (D) Decibel

The isotope of uranium capable of sustaining chain reaction is

(A) U-235 (B) U-245

(C) U-239 (D) U-238

Epoxy resins are used as

(A) detergents (B) insecticides

(C) adhesives (D) moth repellents

MOV extension refers usually to what kind of file?

(A) Image file (B) Animation/movie file

(C) Audio file (D) MS Office document

What does VVVF stand for?

(A) Variant Voltage Vile Frequency (B) Variable Velocity Variable Fun
(C) Very Very Vicious Frequency (D) Invariable Voltage Variable Frequency

Which of these layers of the atmosphere consists of the ozone layer that is responsible for absorbing
the Ultra-Violet (UV) light?

(A) Troposphere (B) Mesosphere

(C) Stratosphere (D) None of these

What is the estimated percentage of forest land that India should ideally have?
(A) 15% (B) 50%

(C) 44% D) 33%

BJF - MASTER | 9 P.T.O.


Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight


N

040. AL AU SIS1HL 6913 A 8 sUL 351 ueid Asvudal ¢ ?
(A) $42 (Camphor) (B) 35\ (Caffeine)
(C) 8L (Thorn apple) (D) 245181 (Opium Poppy)
041. DA UL 56 auedla 2-lu A2 SAMG (Hangzhou) st 2024 Y3u-l 3014 [Bieio el ?
(A)@a-t AgAduir i1 [Aora e naid
(B) A+ tliu~l 21 w8 &quld
(C) dl2Av32 U 21 YMd uae
(D) Yra Ao i1 [B[Aoy 2@
042, vigdl 2 Gellol RS A1 A MURARL 5UL APUA G-l 38’ (Bana Kaih) 4121l &) 531 ?

(A) “WRNA~3 B) A3iu
(C) 20uH, (D) Haay

043. 5541 S+2ruq [Ben 53dlad 2is SR (IFFI) s4i Ao © ?
(A) $ (B) 1dl [2&d)
(C) A~us (D) U

044. 5[ A5 Uida (Krishi Nivesh Portal) -l ualis 84 4 © ?
(A) 5 A5 21 vigd AU
(B) Wwis Buarui atul
(C) vigdi 2uoiigar-l seidn & dl »uudl
(D) 5[ Geng-i-u A dw-l ylaw
045. 59 yua ol WA 512 5100 A5G0 s1SUAluc (PCAF)HL A3LUR AMAH 9 ?

(A) 22 65 wlis SR B)y[Run ols 2is SR
(C) Uott A-d 8s (D) ICICI 65
046.  wasusL AU Geunt (Jaldapara National Park) 521 Q%44 [R2a € ?
(A) 204, (B) ulEu sidoun
(C) Heamgal (D) iR
047.  Nadi Gcua 2024 Gaue- sul sani 2uey ?
(A) $ (B) dl [
(C) slast (D) Blouy3
048. gl vtifawdls Hid @d-ur nan HRdla Hda siasdl ?
(A) [an siae (B) 2leu 1212
(©) el ulas (D) vioflan Ll
049.  sAcd Y2512 HIG Ul WHA dAUL WAL AU A UL AFUAU S ?
(A) HS8IRIZ (B) 5
(©) ¢k (D) ulBu sicum
050.  RAoUdls wudle2s u<l ulda Sl -t sa W2 59 AA Intuitive W ¢ullel 530 69 ?
(A)ALIMS [2&d) (B) AIIMS ®iwe
(C) AIIMS o1y (D) AIIMS U2
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040.

041.

042.

043.

044.

045.

046.

047.

048.

049.

050.

Which drug is associated with the tea or coffee plant source?

(A) Camphor (B) Caffeine

(C) Thorn Apple (D) Opium Poppy

Which Indian tennis duo won the Hangzhou Open 2024 men’s doubles title?
(A) Jeevan Nedunchezhiyan and Vijay Sundar Prashanth

(B) Rohan Bopanna and Mahesh Bhupathi

(C) Leander Paes and Sumit Nagal

(D) Purav Raja and Divij Sharan

In which Indian state was the ‘Bana Kaih’ scheme launched to support farmers and entrepreneurs?

(A) Nagaland (B) Mizoram

(C) Assam (D) Meghalaya

Where will the 55 International Film Festival of India (IFFI) take place?
(A) Mumbai (B) New Delhi

(C) Chennai D) Goa

What is the primary purpose of the Krishi Nivesh Portal?
(A) Agricultural investments and support farmers

(B) Increasing crop yield

(C) Providing weather updates to farmers

(D) Facilitating international trade of agricultural products

Which major bank became the first to join the Partnership for Carbon Accounting Financials
(PCAF)?

(A) Stale Bank of India (B) Union Bank of India
(C) Punjab National Bank (D) ICICI Bank

In which state is Jaldapara National Park, located?

(A) Assam (B) West Bengal

(C) Madhya Pradesh (D) Odisha

Where was Nadi Utsav 2024 inaugurated?

(A) Mumbai (B) New Delhi

(O) Kolkata (D) Bengaluru

Who was the first Indian woman to win an Olympic medal in wrestling?
(A) Vinesh Phogat (B) Geeta Phogat

(€) Sakshi Malik (D) Babita Kumari
Which state is swimmer Pratyasa Ray from, who has been selected for the Ekalabya Puraskar?
(A) Maharashtra (B) Kerala

(C) Odisha (D) West Bengal

Which institution has partnered with Intuitive to establish a robotic-assisted surgery training
centre?

(A) AIIMS Delhi (B) ATIMS Bhopal
(C) AIIMS Nagpur (D) AIIMS Patna

BJF- MASTER | 11 P.T.O.
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051.

052.

053.

054.

05sS.

056.

057.

058.

059.

U UL 215 2uil3d 208 €9 2 RIS A1R Ul el €9, Jui[Zd AGEL BUAUS IR . d AvE
YaE S

aell

(A) WAUR (B) R2iswudd

(C) 252 D)ws

2 AellHi 7, 10, 8, 11, 9, 12, ... UAN UL -61R Buadl ASA ?

(A)7 B) 10

(C) 12 (D) 13

€35 3 Qui-ll YidRIAHE HAL 5 suosi-ll GURAL AW 50 Ay €9, ALl A sunsll GHR Secll 9l ?
A)y4 (B) 8 au

(C) 10 ad (D) Buisd UA 245y Al

Rl GHR dn- Yo AMAA 52c A 2060 4t 8. 8 arl uedl d AlAa-ll GHR sl 216l el 2l ay g a
utdl d ARl GHR-1 s2en aeu gl ?

(A) 2 2wu (B) 2.5 281
(C) 2.75 aRu (D) 3 LU
Y AHAUR 69, 61 [Ba uedl sul iR ¢l ?

(A) BaaR B) a[faR
(C) Hamawr (D) A3AR

DA 2usld = 2us2u0 Sed ven o ?

(A)S (B) 6

©7 (D)8

Aol ulREa 20 A4 © oA deiaddl deud 6 A4 sia di d-l usions sed) sal ?
(A)4 A0 (B) 6 A4\

(C) 10 A M. (D) 14 A. M.

A B 1A 31 1201 44 8. A A L 254 (4/15), B L 25471 (2/5) G1RAGIR 8IY, di B WA 526l
UL ?

(A) 3L. 460 (B) 3L 484

(C) 3L. 550 (D) 3L. 664

A, B, C -l U2UR 2:3:5 JRITIRHUI 9. % dH-ll WIURHL AUIRL AYSH 15%, 10% 1 20% -l QHURL
el AR UOURL Aall iR g vl ?

(A) 3:3:10 (B) 10:11:20

(©)23:33:60 (D) RuiRa 59 asg 4l
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051.

052.

053.

054.

05sS.

056.

057.

058.

059.

The question has an underlined word followed by four answer choices. You will choose the word
that is a necessary part of the underlined word.

harvest

(A) autumn (B) stockpile

(CO) tractor (D) crop

Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come next?
A7 @) 10

O 12 D) 13

The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What is the age of the
youngest child?

(A) 4 years (B) 8 years
(C) 10 years (D) None of these

Father is aged three times more than his son Ronit. After 8 years, he would be two and a half times
of Ronit’s age. After further 8 years, how many times would he be of Ronit’s age?

(A) 2 times (B) 2.5 times
(C) 2.75 times (D) 3 times
Today is Monday. After 61 days, it will be:

(A) Wednesday (B) Saturday
(C) Tuesday (D) Thursday

How many corners are there in the following shape?

(A5 (B) 6
©)7 (D) 8

The perimeter of the rectangle is 20 cm. If the length of the rectangle is 6 cm, then its breadth will
be:

(A)4 cm (B) 6 cm
(©)10 cm (D) 14 cm

A and B together have Rs. 1210. If (4/15) of A’s amount is equal to (2/5) of B’s amount, how much
amount does B have?

(A) Rs. 460 (B) Rs. 484
(C) Rs. 550 (D) Rs. 664

The salaries A, B, C are in the ratio 2:3:5. If the increments of 15%, 10% and 20% are allowed
respectively in their Salaries, then what will be new ratio of their salaries?

(A) 3:3:10 (B) 10:11:20
(C) 23:33:60 (D) Cannot be determined
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060.

061.

062.

063.

064.

065.

066.

067.

068.

069.

070.

id)] Alel Widl Aval WML % 43, 91 211 183 A [Aculd 29 el €35 [BRumi AH subl e ?

A4 B)7

(©)9 (D) 13

o) [Qenell2iiad udlan 200l gl dwidl 215 6l 5L 9 9 Ay HAAL Sl 27 oL YR AL IYR1-L
AURAUAL 56% Sell. dAH-L GIRL HONAA AR U UHL 6.

(A) 39, 30 (B) 41, 32
(©) 42,33 (D) 43, 34

Awau-l 254 AEL Q0% 3 AU 3L 815 27 4 AN 854 A 9. Yga U sedl wal ?
(A) 3L. 650 (B) 3L 690

(©) 3L 698 (D) 3L 700

A, B 2 C 1753 20, 30 241 60 [Baumi 215 512 530 a5 8. e Alon Bad B 244 C g1 Hee saum
4 di A S [Bauui siu 53 a3 ?

(A) 12 [Bax B)15 [Ran

(C) 16 [Baa (D) 18 [Bax

s ulsa 5 [Azui 600 W2 aisll 40wk 53 9. uld scusui d-ll asu s2dl (3.4 ¢al ?
(A) 3.6 B)7.2

(C) 8.4 (D) 10

60 [3)/scus-l 33U €isdl 21 9 As~sui vla wiR 52 B, 2+l dousS seell i ?
(A) 120 Hle (B) 180 Hl2=

(C) 324 Hl2R (D) 150 Hl2=

25 glni 5 AW araue ud 6. 1.5 8522 Yl uR s2¢ well uda sal ?

(A) 75 cu. m (B) 750 cu. m

(C) 7500 cu. m (D) 75000 cu. m

A2 AU 2821 A right-angled triable B+l cuagii-l dous 21 AL, 20 A 8, -l suy-Ql
dousS alkl.

(A) 19 (B) 23
(©) 29 (D) 33
YRUSSA 2 +4 + (22 + 6) X 2.

(A)16/7 (B) 21/8

(C) 19/9 (D) 23/11

(o1 321 [Aequr, DA [Raw g 52 € ?

(A) 321 9s(Ad 53 . B)3asad 9.

(C) 321214 89, (D) 321, [Asdue 53 8.
0 260l 3, 4, 7, 8, 11, 12, ... U2 SUL 1412 dcl AH A ?

(A)7 (B) 10

(C) 14 D) 15
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060.

061.

062.

063.

064.

065.

066.

067.

068.

069.

070.

Find the greatest number that will dived 43, 91 and 183 so as to leave the same remainder in each
case.

(A)4 B)7
(€)9 (D) 13

Two students appeared at an examination. One of them secured 9 marks more than the other and
his marks was 56% of the sum of their marks. The marks obtained by them are:

(A) 39, 30 (B) 41, 32
(©) 42, 33 (D) 43, 34

A sum of money, at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years. The
principal amount is:

(A) Rs. 650 (B) Rs. 690
(©)Rs. 698 (D) Rs. 700

A, B and C can do a piece of work in 20, 30 and 60 days respectively. In how many days can A do
the work if he is assisted by B and C on every third day?

(A) 12 days (B) 15 days

(C) 16 days (D) 18 days

A person crosses a 600 m long street in S minutes. What is his speed in km per hour?
(A) 3.6 B) 7.2

(©) 84 (D) 10

A train running at the speed of 60 km/hr crosses a pole in 9 seconds. What is the length of the
train?

(A) 120 meters (B) 180 meters

(C) 324 meters (D) 150 meters

5 cm of rain falls in a ground, The volume of water that falls on 1.5 hectares of ground is:
(A) 75 cu. m (B) 750 cu. m

(C) 7500 cu. m (D) 75000 cu. m

A right-angled triangle whose sides are of length 21 ¢m, 20 cm, find the length of third side:
(A) 19 B) 23

©)29 D) 33

Evaluate:=2 +4 + (22 + 6) X 2.

(A)16/7 (B) 21/8

(©) 19/9 (D) 23/11

Big data analysis does the following, except

(A) Collects data (B) Spreads data

(C) Organizes data (D) Analyses data

Look at this series: 3, 4, 7, 8, 11, 12, ... What number should come next?

(A)7 B)10

©) 14 D) 15
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071.

072.

073.

074.

07s.

076.

077.

078.

079.

080.

s A2 al3ao AL 8 aval sald 9. i alun sui 2 aeul salad AR sAL5L Q1Y (the
hour hand) 321 24 $39 ?

(A) 144° (B) 150°

(C) 168° (D) 180°

oAl vl AL ML 245 ddluigl 15 Sl dl d vl AR-EAHL (UL 524 ¢l ?
(A) 35 (B) 36

(C) 45 D) 54

Y Y

60 (@22 [Faranl g8 21 well-l dpRlitiz 2 : 1 6. 2 20 Rl 1 : 2 S, dl well-l 2dl el ay
GHRAL S ?

(A) 20 [&@22 (B) 30 [&2:
(C) 40 [A22 D) 60 (a2

s Qa5 wa 215 3R A2, uia 3L AL2 24 g 3R Al2iq yeuui 31 480 8. €35 usiR-
Uil vl A 6. d-ll wA ga sedl 2 8 ?

(A) 45 (B) 60
(C) 75 (D) 90

2,3,5,6,7 219 isinidl 52dl 3 ol vl ot 45 6, % 5 a3 (el asia B A 515 R isd
yrRiad- ag el ?

(A)5 (B) 10
(©) 15 )20
Dalunid) si-u Al ay [Acuerst (divisors) & ?

(A) 99 (B) 101
©)176 (D) 182

2L WA2siH Ul 21 36 AS~3HI AR A €9 2 WH251H U Gleiel HRIRA 20 As~3Hi. o 2+l
23U 54 [33l/sa15 Sy, di WesidHl dous sedl © ?

(A) 120 (B) 240 ¥l
(C) 300 2l (D) 360 H

66 8- A-2l4122 i)l Guaiol 1 {1l -l awaR striaar w2 A 9. dl Hleui araz-l dousd s2dl
8ol ?

(A) 84 (B) 90
(C) 168 (D) 336

(B 3arua vy ?

(A) AYH (Volume) (B) 421 (Velocity)

(C) [alasar (variety) (D) Buisd AHIM (All the above)
YRS SA: {15%x 32 +2 X5} +75

(A) 12 (B) 14

(€) 15 M) 16
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071.

072.

073.

074.

07s.

076.

077.

078.

079.

080.

An accurate clock shows 8 o’clock in the morning. Through how many degree will the hour hand
rotate when the clock shows 2 o’clock in the afternoon?

(A) 144° (B) 150°

(C) 168° (D) 180°

If one-thired of one-fourth of a number is 15, then three-tenth of that number is:
(A) 35 (B) 36

(©) 45 D) 54

In a mixture 60 liters, the ratio of milk and water 2:1, If this ratio is to be 1:2, then the quantity of
water to be further added is:

(A) 20 litres (B) 30 litres
(O) 40 litres (D) 60 litres

A man has Rs. 480 in the denominations of one-rupee notes, five-rupee notes and ten-rupee notes.
The number of notes of each denomination is equal. What is the number of notes that he has?

(A) 45 B) 60
©75 (D) 90

How many 3-digit numbers can he formed from the digits 2, 3, 5, 6, 7 and 9, which are divisible by
5 and none of the digits is repeated?

(A)5 (B) 10
©) 15 D) 20
Which of the following has the most number of divisors?
(A) 99 (B) 101
©) 176 (D) 182

A train passes a station platform in 36 seconds and a man standing on the platform in 20 seconds.
If the speed of the train is 54 km/hr, what is the length of the platform?

(A) 120 m (8)240 m
(C) 300 m (D) 360 m

66 cubic centimetres of silver is drawn into a wire 1 mm in diameter. The length of the wire in
metres will be:

(A) 84 (B) 90

(C) 168 (D) 336

What are the four V’s of Big Data?

(A) Volume (B) Velocity

(O) Variety (D) All the above
Evaluate: {15x 32 +2 X5} +75

(A) 12 (B) 14

©) 15 D) 16
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081.  oitll onsell 2l iy dal [dseu urie 530,

1. AR, R, vea, daw

2. Audld, Anlq, d, Aysd

3. 8GR, sRaR, ¢dls, R

4. did, ddidls, duqa, dala

(A) $5d 104 8. (B) $5d 2 12 €9,

(©))s5d 1211 2 = 9. (D) $5d. 2 1 3 120 9,
082. -l 2uai og un @S axi-udl aoel (gl wlou [Aseu uaie sl

1. gy, ALHRY, Wdusn, anlsg

2. WY, AR, UgASM, URAS

3. wgel, uRiel, u8Hid, dlR

4. &R, vol, yesn, 52

(A) $5d 1 211 2 QioU 8, (B) S5 3 vl 4 iou 9,

(C) $51.1, 3 217 4 1Y 89, (D) 1,2,3 249190 69,
083. -l uuai o 2un ad [azgell avel (gl diou [Aseu urie 52l

L [o-e xurside 2. du~ix[Qu~t 3. [Qopg x gy 4. [Qcuws x Aqulrs

(A) $5d 4 U194 69, (B) $5c 1 24 2 idu 9,

(C) 2, 3 21 4 b14)L % ALY 8, (D) $50 3 A 4 QioU 9,

084. 1A 2uden 3(uuion 2 d- 2 W2 Uy [Asey urie sl

3Ruula w1
1. wadl 2l sl — sl SRl
2. wadl yild 2uag - SdAS 2uag
3. 210l wadl ysdl - sarkuag
4. wadl-i 4ol —  addR 5 AUIRHI Wrddl
(A)$5c 1,2 217 4 1Y 8, (B) $5d 2 v 3 Uiou 9,
(C) 552, 3 v 4 U12U 89, (D) 1,2, 3 3 4 6141 % 41y 69,
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085. -l 2uqcll sdadid tud 4 d-u [ wioy [asey uaie sa.
1. ay (A1 - ug
2. -ueu [Qrusl -ulan, el naea
3. %R Ml A B Al
4. %R, ¥l 1A AR, AV s 913
(A) 3 21 4 Al s8adl ©, 1 211 4 azgl s8adl 8.
B)/1 21 2 uxruel s8adl 8, 2 214 4 a3l sadi .
(C) 1 21 4 -l s8adl 9, 2 11 3 azgl s8adl 8.
(D) 1 241 3 a3l s8adl ©, 1 211 2 azgel s8adl 8.

086. 1A 2uual RS Aot 11 d-w usR [Qal oy [asey vaie s2U.

arulas ave USIR

1. daary - dY3N AN

2. gl - dg UM

3. AHAR - SH{uRA A

4. 893 - Gyue uHW
(A) $5d. 1 211 3 Q12U 8, (B) $5d 2 24 3 Uiou 9,
(©))s50 3 uin 4 uiou 8, (D) 1,2, 3 21 4 6181 % UIdU 69,

087. -2 2uucll A8 (a9l wiou [asey uaie s3.
1. %y + B = 2gdR
2. UM + AidR = HIMIAR
3. URIY + 412 = YRIUSIR
4. R + g2 = Rag
(A) $5d 1 211 4 120 9, (B) $5c 2 211 3 12 9,

(O)1,2,3 21 4 6181 % 1L 69, D)1, 2, 3 21 4 oL o viiaL 89,
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088.

089.

090.

A 200l s1a-Ulsan 2 Aad DAL 9L SR L 41y, [Asey Yrig s2.

1. ‘Mag ! mag ! edl! [aa oA [QuR,
uRL Yol didl R Ald Gl

2. a2 yoll 28 ¢
AgMAdL $6 2 eua Al

3. ‘Mo HadiRRl 2l edrcuH,
a2 (Ao vl vilduq.’

4. ‘sl 8l [Avll 2] ag,
adlaL ol A [Quin el g

@A) 1. wla-, 2. yaaw, 3. Hidlew, 4. daza

(B) 1. WA, 2. y[Mudaw, 3. dara, 4. Hidlew

(©) 1. W&, 2. Hidlew, 3. yMawu, 4. daza

(D) 1. W&, 2. dara, 3. Hidlew, 4. yMau

A 20Ul s1eu-ulsad LA ad s s UsIR W2 Ay [Asey uaie s
1. 2 as0asn Ydi A8 e Wl sanadl.

2. 4[4 % - @), 4ld d dq A8Rdl, B wing d Hid 2L sH €l © gedl.
3. vueocllHl @ld d avul Al Wl 9.

4. sufA-l-silzen sdl 5o 52,

(A) 1. ADARIUEGL 2. 24, 3. QAMIA(E, 4. i

(B) 1. Bellau, 2. 24N, 3. 2¥id, 4. 3us

(C) 1. ADAURIU, 2. UHS, 3. Gun, 4. aRiquA

D) 1. Glaw, 2. val-da, 3. Guul, 4. 3us

A [QordiA ud @ aiou [Aseu wrie 520,

1. Y + Glsa =yl

2. ‘UMl Rum ol e1vl eaudRjAH, 214 dl 215 Alg 20Ul 211R 8. — HAleR
3. ARURUA — dY3N AHIRA

4. A3 AdL 221, tUU AL Bl — 2R1d AESR

(A) $5d 1 211 2 120 9, (B) $5d 1,2 %1 3 12 8,

(©))s5d 2 A 4 2 9. (D) 55d 4 WY 9.
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091. The food was distributed ten students.
(A) Between (B) among
(C) through (D) within

092. The major along with his soldiers were killed in the field. (Spot the error)
(A) The major (B) along with
(O) his soldiers (D) were killed in the field
(E) No error

093. A book is a book, although there is nothing in it. Which of the following is the ‘conjunction’ in the
above sentence?

(A) Book B) is
(C) although (D) nothing
094. He not take such a step.
(A) fare (B) dares
(C) dare (D) eares
095. Rama ordered Arjun to go away. (Turn into direct speech)
(A) Rama ordered Arjun, go away. (B) Rama said, "Arjun go away."
(C) Rama said to Arjun, "Go away." (D) Rama ordered to Arjun to go away.
096. horse is a noble animal.
A)A (B)An
(C)The (D) Zero Article

097. Identify the adjective in the following sentence:

“Calcutta is a large city.”

(A) Culcutta (B) large

(C) city D) is
098. ___ when have you been playing?

(A) For (B) From

(C) Since (D) Till

099. He took away my books, yet I have been left with

(A) few (B) little

(C) a few (D) a little
100. I don't have money left.

(A) many (B) little

(C) few (D) any
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101.

102.

103.

104.

10S.

106.

107.

108.

Who is authorized to enter into an agreement with any person for assistance in fire fighting under
the Gujarat Fire Prevention and Life Safety Measures Act, 2013, section 16?

(A) Superintendent of police (B) Chief Fire Officer
(C) Private citizens (D) Director General of Police

Who is responsible for appointing a fire safety officer as per Section 12 of the Gujarat Fire
Prevention and Life Safety Measures Act, 2013?

(A) The Regional Fire Officer (B) The Labour Commissioner
(©) The factory owner and occupier (D) The Chief Fire Officer

To whom should the compliance report for the appointment of a fire safety officer be sent under
Section 12 of the Gujarat Fire Prevention and Life Safety Measures Act, 2013?

(A) Labour Commissioner

(B) State Government

(©) Regional Fire Officer or Chief Fire Officer
(D) Director of Fire Services

The training centres established under Section 17 of the Gujarat Fire Prevention and Life Safety
Measures Act, 2013 provide instruction to personnel from which types of services?

(A) Only Government fire services

(B) Both Fire Services and private services of industries, hotels, and other establishments specified
by the State Government

(C) Only private industrial fire services
(D) Only local body fire services

Who has the authority to prescribe the fees and procedure for providing fire prevention and
extinguishment training as per Section 17 of Gujarat Fire Prevention and Life Safety Measures
Act, 2013?

(A) Municipal Corporation (B) State Government
(C) Local fire services (D) Fire Safety Officer

Under which condition can an officer inspect a place without giving prior notice, as per the proviso
in Section 24 of Gujarat Fire Prevention and Life Safety Measures Act, 2013?

(A) If an industry is working or a function is going on
(B) If the building is empty

(C) If the building has been abandoned

(D) Only after obtaining a court order

What is the notice period required by the authorities before entering and inspecting a building
under normal circumstances, according to Section 24 of Gujarat Fire Prevention and Life Safety
Measures Act, 2013?

(A) 3 hours (B) 6 hours
(C) 24 hours (D) No notice required

Who has the authority to grant a license to a Licensed Agency under the Gujarat Fire Prevention
and Life Safety Measures Act, 2013?

(A) Municipal Commissioner (B) Chief Fire Officer
(©) Director (D) Regional Fire Officer
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109.

110.

111.

112.

113.

114.

115.

For how long is a license granted to a Licensed Agency valid, as per Section 28 of the Gujarat Fire
Prevention and Life Safety Measures Act, 2013?

(A) One year (B) Indefinitely
(C) Five years (D) Two years

What is the maximum imprisonment term for knowingly giving a false report of a fire, as per
Section 44 of the Act?

(A) Five years with fine upto Rs. 1000/- or both
(B) Six months with fine upto Rs. 1000/- or both
(C) One year with fine upto Rs. 1000/- or both

(D) Three months with fine upto Rs. 1000/- or both

Gujarat Fire Prevention and Life Safety Measures Act, 2013, jurisdiction of the Director in Gujarat
Fire Services is restricted to:

(A) District (B) State
(C) Local Municipal Corporation (D) Fire region

Gujarat Fire Prevention and Life Safety Measures Act, 2013, the appointment of the Director in
Gujarat Fire Service is done by:

(A) State Government (B) Central Government
(C) Directorate of Fire Prevention Services (D) Commissioner of Municipal Corporation

Which aspect is covered under Section 18 of the Gujarat Fire Prevention and Life Safety Measures
Act, 2013 covers:

(A) Suspension, termination, and punishment

(B) Requirement for fire prevention and life safety measures
(C) Power to arrange the supply of water

(D) Powers, duties, and functions of Fire Officers

Which aspect is covered under Chapter 1V of the Gujarat Fire Prevention and Life Safety Measures
Act, 2013 covers:

(A) Training to Fire Personnel and Fire Safety Officers
(B) Requisition and Compensation for Fire Equipment
(C) Provisions for Temporary Structures

(D) Offences and Penalties

The Gujarat Fire Prevention and Life Safety Measures Act, 2013 empowers to grant
permission for the use of temporary structures.

i. Chief Fire Officer ii. Regional Fire Officer iii. Any Nominated Officer
Select the correct option using the code below:

(A) i only (B) i and ii only

(©)i, ii and iii (D) ii and iii only
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116.

117.

118.

119.

120.

121.

122.

Which aspect is covered under Section 12 of the Gujarat Fire Prevention and Life Safety Measures
Act, 2013?

(A) Appointment of Fire Safety Officer

(B) Appointment of Fire Officer

(C) Constitution of Fire Region

(D) Training for Fire Personnel and Fire Safety Officers

The appointment of Divisional Fire Officer and Station Fire Officer is regulated by which section
of the Gujarat Fire Prevention and Life Safety Measures Act, 2013?

(A) Section 9 (B) Section 10
(C) Section 11 (D) Section 13

Chapter VII of the Gujarat Fire Prevention and Life Safety Measures Act, 2013 addresses which
of the following?

(A) Requisition and Compensation for Fire Equipment
(B) Provisions for Temporary Structures

(©) Licensed Agency

(D) Offences and Penalties

According to Gujarat Fire Prevention and Life Safety Measures Act, 2013, for how many years
the fire safety certificate issued to the owner of a residential building is valid?

(A) 3 years (B) S years
(C) 7 years (D) 10 years

According to Gujarat Fire Prevention and Life Safety Measures Act, 2013, for how many years
the fire safety certificate issued to the owner of a non-residential building is valid?

(A) 7 years (B) S years
(©) 3 years (D) 10 years

Which of the following qualifications is NOT eligible for the grant of a license to issue certificates
regarding compliance with fire prevention and life safety measures?

(A) Degree in Fire Engineering from National Fire Service College
(B) Diploma in Fire Engineering from National Fire Service College
(C) Degree or Diploma in Mechanical Engineering

(D) Degree or Diploma in Computer Engineering

The license to act as a Licensed Agency in the state of Gujarat is

i. Non-transferable

ii. Valid for three years from the date of issue

iii. Can be renewed

Select the correct option using the code below:

(A) i only (B) ii and iii only
(©)iii only (D) i, ii and iii
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123.

124.

128.

126.

127.

128.

129.

Which of the following is NOT a duty of the fire safety officer under fire prevention and safety
protocols?

(A) Inspecting fire alarm systems in residential areas every month.
(B) Issuing a fire safety certificate renewal upon compliance with all mandatory requirements.

(O) Giving a bi-annual declaration that fire prevention, life safety, and fire protection measures
are operational and in efficient working condition.

(D) Conducting bi-annual emergency mock drills and providing basic fire safety information to
occupants and staff.

According to Gujarat Fire Prevention and Life Safety Measures Act, 2013, the fire safety certificate
is issued to the owner in which form?

(A) Form B13 (B) Form B12

(C) Form B15 (D) Form B14

The badge for an officer holding the rank of Chief Fire Officer consists of

(A) Ashok emblem + Shoulder titles “GSFS”

(B) Ashok emblem with one small impeller (3/4" diameter) + Shoulder titles “GSFS”

(C) Ashok emblem with three small impellers (3/4" diameter) + Shoulder titles “GSFS”

(D) Crossed swords and baton with one small impeller (3/4" diameter) + Shoulder titles “GSFS”

Which of the following types of buildings is NOT assigned to an officer holding the rank of Divisional
Officer in Gujarat?

(A) Hotels with 100 rooms and above
(B) Multi-storey non-residential buildings exceeding 50 meters in height
(C) Hospitals and nursing homes with more than 500 beds

(D) District centres, including the basement, with a built-up area of more than 25,000 square
meters

According definition given in Gujarat Fire Prevention and Life Safety Measures Regulations,
2023, what is the meaning of “exit” according to the definition provided?

(A) A channel leading to a street or open space of safety
(B) A passage leading to another room

(C) A passage within a building to another floor

(D) A door between two rooms

What is the minimum fire resistance rating required for a boiler room as per Section 15.24.1 of
Gujarat Fire Prevention and Life Safety Measures Regulations, 2023?

(A) 1 hour (B) 2 hours
(O) 3 hours (D) 4 hours

What is the purpose of the blowers in the lift-well as per Section 15.26.2 of Gujarat Fire Prevention
and Life Safety Measures Regulations, 2023?

(A) To cool the lift

(B) To provide ventilation for the lift passengers

(O) To increase the speed of the lift

(D) To prevent the lift-well from getting smoke logged
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130.

131.

132.

133.

134.

135.

136.

137.

138.

139.

According to Section 15.28.2 of Gujarat Fire Prevention and Life Safety Measures Regulations,
2023, the staircase of a basement should have a fire resistance of at least:

(A) 1 hour (B) 3 hours

(©) 2 hours (D) 4 hours

What is the primary objective of Part IV of the National Building Code of India 2016?
(A) To provide guidelines for fire and life safety

(B) To ensure structural stability

(C) To regulate building aesthetics

(D) To specify the types of building materials

According to NBC 2016, Part IV, which of the following is considered a critical factor in fire
protection for buildings?

(A) Fire-resistant of construction materials  (B) Building height
(C) Building colour (D) Building location

What is the required fire resistance rating for the inspection panel and doors of refuse chutes as
per NBC 2016, Part IV?

(A) 30 minutes (B) 60 minutes

(C) 90 minutes (D) 120 minutes

How far must refuse chutes be located from exits as specified in NBC 2016, Part IV?
(A) At least 4 meters (B) At least 3 meters

(C) At least 6 meters (D) At least 5 meters

For buildings erected in Fire Zone No. 3, which types of construction are allowed according to
NBC 2016, Part-1V, Section 3.2.6?

(A) Type 1 only (B) Type 1 or 2
(C) Type 2 only (D) Type 3 or 4

What is the required fire resistance rating for separating occupancies in a mixed occupancy building
as per NBC 2016, Part-1V, Section 3.1.11?

(A) 120 minutes (B) 240 minutes
(C) 180 minutes (D) 300 minutes

What is the maximum length of a dead-end corridor in exit access for educational, institutional,
and assembly occupancies according to NBC 2016, Part-1V, Section 4.4.2.2?

(A) 3 meters (B) 15 meters

(C) 10 meters (D) 6 meters

How should exits be arranged in a building according to NBC 2016, Part-1V, Section 4.4.2.2?
(A) Close to each other for ease of access

(B) In a centralized location for convenience

(©) As remote from each other as possible and arranged to provide direct access in separate
directions from any point in the area served

(D) In a manner that minimizes travel distance only

According to NBC 2016, Part-1V, what is the maximum allowable slope for a ramp?
(A)1in 10 (10%) (B)1in 8 (12.5%)

(©)1in 15 (6.7%) D) 1in 12 (8%)
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140.

141.

142.

143.

144.

145.

14e.

147.

148.

What method is used to protect exits from the ingress of smoke in high-rise buildings as per NBC
2016, Part-1V?

(A) Natural ventilation (B) Pressurization of staircases and lobbies
(C) Smoke detectors (D) Automatic sprinklers

In which Fire Zones are temporary buildings or structures permitted according to NBC 2016,
Part-IV?

(A) Fire Zones No. 2 and 3 (B) Fire Zones No. 3 and 4
(C©) Fire Zones No. 1 and 2 (D) Fire Zones No. 2 and 4

What is required to be done with temporary buildings or structures after the permit period
expires according to NBC 2016, Part-I1V?

(A) They must be completely removed (B) They must be transferred to a new location
(C) They must be renovated (D) They may remain as long as they are inspected
What is the primary focus of codes and standards for passive fire protection systems and materials?
(A) Enhancing the building’s aesthetics

(B) Ensuring structural integrity and fire resistance

(C) Reducing construction costs

(D) Improving energy efficiency

According to the Gujarat Comprehensive Development Control Regulations - 2017, how is the
height of a building measured?

(A) From the established ground level to the top of the building
(B) From the ground floor to the top of the staircase cabin

(C) From the highest point of the roof to the lowest floor

(D) From the basement to the top of the lift well

According to the Gujarat Comprehensive Development Control Regulations - 2017, what is the
maximum allowable height for a basement?

(A) 3.0 meters (B) 2.8 meters
(©) 3.8 meters (D) 3.5 meters

Which of the following is a permitted use in the basement of a hospital building as per the Gujarat
Comprehensive Development Control Regulations - 2017?

(A) Office space (B) Radiation Therapy Room
(C) Staff lounge (D) Medicine shop

According to the Gujarat Comprehensive Development Control Regulations - 2017 for buildings
over 25 meters high, when should emergency escape lighting turn on after a failure of the normal
lighting supply?

(A) Within 1 second (B) Within 30 seconds

(C) Within 10 seconds (D) Within S minutes

What is the primary purpose of a Self-Contained Breathing Apparatus (SCBA)?

(A) To provide fire resistance to clothing

(B) To enhance vision in smoke-filled areas

(©) To offer clean air to fire fighters in hazardous environments

(D) To cool down the fire fighter’s body
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149.

150.

151.

152.

153.

154.

15S.

156.

What is the purpose of guardrails on scaffolding?

(A) To protect workers from falling off the edge

(B) To prevent materials from falling off the scaffold

(C) To provide a platform for workers to stand on

(D) To enhance the aesthetic appearance of the scaffold

What is the primary purpose of wearing a fire-resistant suit in fire fighting?

(A) To improve mobility

(B) To protect against electrical hazards

(C) To enhance visibility

(D) To provide insulation from extreme temperatures

What is the concept of “friction loss” in a piping system?

(A) The loss of pressure due to the resistance of water flowing through pipes and fittings
(B) The loss of water volume due to evaporation

(C) The reduction in pressure due to changes in pipe diameter

(D) The increase in pressure due to the addition of new water sources

Which of the following statements is NOT correct regarding friction loss in a fire hose?
i. Friction loss does not depend on the quality of the hose

ii. Friction loss varies directly with the length of the hose

iii. Friction loss varies with the square of the velocity

Select the correct option using the code below:

(A) i and ii only (B)i only

(C) ii and iii only (D) i, ii and iii

Water flows through a pipe with a diameter of 14 cm at a velocity of 0.75 m/s. What is the mass
flow rate of water in the pipe?

(A) 696 kg/min (B) 475 kg/min

(C) 325 kg/min (D) 848 kg/min

Which of the following is NOT considered a minor energy loss in a piping system?
(A) Friction loss (B) Pipe fittings

(C) Bend in pipe (D) Sudden expansion of pipe diameter
The atmospheric pressure is equivalent to a water column height of approximately:
(A) 7.5 meters (B) 10.3 meters

(C) 9.8 meters (D) 8.5 meters

When pipes are connected in series, the total discharge is:

(A) Equal to the sum of the discharges in each pipe

(B) Equal to the reciprocal of the sum of the discharges in each pipe
(C) Dependent on the diameter of the pipes

(D) The same as the discharge through each individual pipe
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157.

158.

159.

160.

161.

162.

163.

164.

16S.

166.

The ratio of the actual discharge from an orifice to the theoretical discharge from the orifice is
referred to as:

(A) Discharge capacity (B) Coefficient of discharge
(C) Vena contracta (D) Discharge time

Which of the following formula is used to determine the K-Factor of a sprinkler, where Q is the
discharge at the node and p is the pressure at the node?

A)K=Q/p" (B) K=Q/p

OK=Qxp (D) K = Q/p?

In a Venturimeter, the pressure of the liquid at the throat is:

(A) Lower than that at the inlet (B) Higher than that at the inlet

(C) The same as that at the inlet (D) Dependent on atmospheric pressure

For fully developed flow in a circular pipe with negligible entrance length effects, if the length of
the pipe is doubled and the diameter is halved, assuming the mass flow rate, density, and friction
factor remain constant, by what factor will the head loss due to friction increase?

A4 (B) 64
(©) 32 D) 16

As per IS 15105, what is the minimum thermal element Response Time Index (RTI) for standard
response sprinklers?

(A) 80 (m/s) *5 or more (B) 50 (m/s) %5 or more
(C) 60 (m/s) *3 or more (D) Less than 50 (m/s)"5

Which type of sprinkler system has open sprinklers connected to a piping network that is connected
to water supply through and this valve operates through a detection system?

(A) Pre-action system (B) Deluge system
(C) Wet pipe system (D) Life safety system

As per IS 15105, which type of sprinkler system is defined as having the highest sprinkler more
than 45 meters above the lowest sprinkler or sprinkler pumps?

(A) Dry pipe system (B) Life safety system
(C) Deluge system (D) High rise system

According to the release mechanism, which type of sprinkler operates by melting a component
when exposed to heat?

(A) Glass bulb sprinkler (B) Spray sprinkler

(C) Chemical pellet sprinkler (D) Fusible element sprinkler

What is the minimum water discharge density required for light hazard areas as per IS 15105?
(A) 1.50 Ipm/m? (B) 2.25 Ipm/m?

(C) 3.00 Ipm/m? (D) 5.00 Ipm/m?

What is one of the key environmental advantages of water mist fire suppression systems compared
to halon-based systems?

(A) Increased oxygen displacement (B) Larger water droplets

(C) Higher system pressure (D) Minimal water usage
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167.

168.

169.

170.

171.

172.

173.

174.

Water mist systems control fires by:

(A) Using large volumes of water

(B) Displacing oxygen and pre-wetting areas
(C) Increasing the temperature of the fire area
(D) Creating large droplets to cover more area

What is the primary purpose of controlling or containing water discharge from water spray
systems where flammable or combustible liquids are present?

(A) To increase the water flow rate (B) To reduce water usage

(€) To prevent the spread of fire (D) To maintain system pressure

What is the primary function of portable gas monitors?

(A) Detect multiple gases in large areas

(B) Spot-checking and personal safety for workers

(C) Provide continuous monitoring in industrial settings

(D) Detect gas leaks in pipelines

In which type of setting would you typically find fixed gas monitors?

(A) Outdoor recreational areas (B) Industrial facilities for monitoring large areas
(C) Small office spaces (D) Personal use in homes

Which of the following terms refers to the concentration range of a vapor that can ignite in the
presence of a source of ignition?

(A) Flash point (B) Saturated Vapor Pressure
(C) Limiting Oxygen Concentration (D) Flammability limits
Which of the following describes a pool fire?

(A) A fire caused by a sudden release of gas

(B) A rapid combustion of gas in open air

(©) A turbulent diffusion fire above vaporizing hydrocarbons

(D) A large ball of fire from an explosion

Which of the following are necessary conditions for flash-over to occur?
i. Sufficient availability of fuel

ii. Sufficient availability of oxygen

iii. Ability of the compartment to trap hot gases

Select the correct option using the code below:

(A) i and ii B) i, ii and iii

(C) ii and iii (D) i and iii

During which stage of fire behavior is the t-squared model typically applied?
(A) Flashover (B) Post-Flashover

(C) Pre-Flashover (D) Decay stage
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175.

176.

177.

178.

179.

180.

181.

182.

183.

What is the main reason for the higher soot production in diffusion flames compared to premixed
flames?

(A) Higher temperatures in diffusion flames lead to more incomplete combustion.
(B) In diffusion flames, the fuel is fully oxidized, but the by-products form soot.

(C) Fuel and oxidizer mixing occurs in localized regions, resulting in incomplete combustion and
soot formation.

(D) Premixed flames have less soot due to lower fuel concentrations near the flame front.

Which flame is typically found in a candle flame?

(A) Diffusion flame (B) Premixed flame
(C) Fireball (D) Flash fire
Boiling primarily involves which type of heat transfer process?
(A) Convective (B) Conductive

(O) Radiative (D) Mechanical

When considering the heat transfer in a phase change process, which of the following best describes
the concept of latent heat?

(A) Heat required for the substance to change its phase without a temperature change
(B) Heat required to raise the temperature of a substance

(C) Heat lost during radiation

(D) Heat exchanged during forced convection

In a situation involving heat conduction through a composite wall, the overall heat transfer
coefficient is determined by which of the following relationships?

(A) Inverse of the summation of individual thermal conductivities
(B) Parallel resistance model

(C) Direct summation of individual thermal resistances

(D) Series resistance model

Which of the following factors does NOT affect the overall heat transfer coefficient for a composite
wall?

(A) Thickness of each layer (B) Thermal conductivity of each layer
(C) Arrangement of layers in the wall (D) Temperature difference across the wall

In which of the following foam-producing equipment can the material and hose be manually
transported?

(A) Fixed system (B) Portable system

(C) Mobile system (D) Semi-fixed system

Which of the following is NOT a characteristic of a Wet Riser system?

(A) It is a vertical rising main

(B) It is used for fire fighting within the building

(O) It has landing valves on each floor or landing

(D) It requires manual operation to charge the system with water

What is the process called when a substance reacts with oxygen and produces heat and energy?
(A) Flammability (B) Ignition

(C€) Combustion (D) Flame
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184.

18S.

186.

187.

188.

189.

190.

191.

192.

193.

What happens to the formation of carbon monoxide and soot in a hydrocarbon fire as oxygen
deficiency increases?

(A) It decreases

(B) It remains the same

(O) It increases

(D) It decreases with a decrease in oxygen deficiency

Which of the following is NOT the criterion to determined fire resistant of an element of building
as per National Building Code-2016?

(A) Stability (B) Integrity

(C) Insulation (D) Fire Load

In reference to National Building Code -2016, occupant load factor (m?/person) for residential
building is;

(A) 4.00 (B) 10.00

(©)12.50 (D) 15.00

The tendency of coal to react with available oxygen and burn is an example of what type of
combustion?

(A) Rapid combustion (B) Explosion
(C) Spontaneous combustion (D) Flame

What is the lowest concentration of a gas or vapor that will maintain the propagation of a flame
away from an ignition source?

(A) Flashover (B) Lower temperature limit
(©) Lower flammability limit (D) Fire

Which of the following is NOT a basic mode of heat transfer?

(A) Heat flow (B) Convection

(C) Radiation (D) Conduction
Which of the following units is NOT used to measure heat produced?
(A) Calorie (B) Joules

(C) BTU (D) Joules per gram
How much energy, in calories, is there in 10 kilocalorie (kCal)?

(A) 10 cal (B) 100 cal

(C) 1000 cal (D) 10000 cal

Which IS code specifies the functional requirements for a water tender Type ‘A’ used by the fire
brigade?

(A) IS 6067 (B) IS 950
(©) IS 948 (D) IS 951

According to IS 10993, what is the minimum horizontal throw distance for a monitor installed on
a Dry Chemical Powder tender?

(A) 10 m B)40 m
(C)30m (D) 50 m
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194.

195.

196.

197.

198.

199.

200.

201.

202.

Which IS code outlines the functional requirements for a portable pump used in firefighting?

(A) IS 947 (B) IS 943

(C) IS 944 D) IS 942

As per IS 10460, what is the required capacity of the fire pump installed on a small foam tender?
(A) 1500 Ipm (B) 1800 Ipm

(C) 2280 Ipm (D) 2850 Ipm

According to IS standards, what is the water tank capacity of a Type-B water tender?

(A) 2500 liters (B) 4500 — 7000 liters

(C) 2700 — 3600 liters (D) 6000 liters

Which of the following is NOT a type of smoke detector?

i. Ionization detector

ii. Photoelectric detector

iii. Spot-type detector

iv. Rate-of-rise detector

Choose the correct option from the codes below:

(A)iand ii (B) iii and iv

(O) i and iii (D) ii and iv

As per National Building Code -2016, the horizontal luminance at floor level on the centreline of
an escape route shall not be less than H

(A) 3 lumen/m? (B) 7 lumen/m?

(©) 10 lumen/m? (D) 15 lumen/m?

What is the correct term for a substance that causes cancer?

(A) Asphyxiant (B) Infectious

(€) Carcinogen (D) Contagious

What term is used for long-term exposure by a harmful substance?

(A) Acute exposure (B) Chronic exposure

(C) Sub-chronic exposure (D) Super-chronic exposure

In the case of a rural or forest fire, how should the firebreak width changes with the wind speed?
i. Increase

ii. Decrease

iii. Remain the same for different wind speeds

Choose the correct option:

(A) Only ii (B) Only i

(C) Only iii (D) ii and iii

According to the National Fire Protection Association (NFPA), what is the recommended minimum
width for a firebreak in forested areas?

(A) 10 feet (B) 50 feet

(©) 30 feet (D) 100 feet
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203.

204.

205.

206.

207.

208.

209.

210.

211.

212.

The minimum fire resistance of internal staircase should be ;
(A) 30 min (B) 60 min
(C) 90 min (D) 120 min

Which of the following is considered a significant factor that influences the spread of rural and
forest fires?

(A) Soil type (B) Topography
(C) Wildlife presence (D) Land ownership

According to the National Fire Protection Association (NFPA), what is the most effective fire
prevention measure for homes located in wild land-urban interface areas?

(A) Defensible space (B) Sprinkler systems
(C) Fire alarms (D) Fire extinguishers

What is defined as the time required from the arrival of the first fire-fighting vehicle until the
initial intensity of the fire is reduced by 90 percent?

(A) Response time (B) Extinguishment time

(©) Control time (D) Reaction time

What does TCA stand for in the context of aircraft fire-fighting calculations?
(A) Total Coverage Area (B) Theoretical Critical Area
(O) Total Critical Area (D) Total Combustible Area

As per IS: 8758-2013 what is the minimum requirement of exit for any type of temporary structures/
pandal?

(A) Two exits of not less than 2.5 m width (B) One exits of not less than 3 m width
(C) Two exits of 3 m width (D) One exits of 2.5 m width

According to NFPA 418, what is the minimum duration of foam discharge for a fixed discharge
outlet system?

(A) 10 minutes (B) 5 minutes

(C) 20 minutes (D) 15 minutes

What causes a BLEVE?

(A) A container holding a pressure-liquefied gas fails catastrophically
(B) A container holding a flammable liquid catches fire

(C) A gas pipeline explosion due to pressure build-up

(D) A pressure relief valve fails to operate

Which of the following is best defines deflagration?

(A) A rapid combustion process that exceeds the speed of sound

(B) The propagation of a combustion zone at a velocity less than the speed of sound
(C) A slow combustion process with no wave formation

(D) An explosion caused by compressed gases

Which of the following is true regarding detonation?

(A) It propagates at a velocity greater than the local speed of sound
(B) It involves a slow combustion process

(C) It propagates at a speed less than the speed of sound

(D) It does not involve combustion
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213.

214.

215.

216.

217.

218.

219.

220.

221.

Which of the following is an example of an endothermic process?

(A) Combustion of wood (B) Melting of ice

(C) Freezing of water (D) Condensation of steam

What does the equivalence ratio represent?

(A) The ratio of fuel to air in any mixture

(B) The ratio of air to fuel in a stoichiometric mixture

(©) The fuel/air ratio divided by the fuel/air ratio for a stoichiometric mixture
(D) The air/fuel ratio multiplied by the stoichiometric fuel/air ratio

If the equivalence ratio is less than 1, what does this indicate about the mixture?
(A) The mixture has excess fuel (B) The mixture has excess air
(C) The mixture is perfectly balanced (D) The combustion is incomplete
Which of the following is best describes a flashover event?

(A) The rapid ignition of all combustible materials in an enclosed space

(B) A gradual spreading of flames throughout a building

(C) The smouldering of fire without visible flames

(D) The slowing down of a fire due to lack of fuel

Flashover is often considered the transition between which two stages of fire development in a
compartment?

(A) Ignition and growth (B) Growth and fully developed

(C) Fully developed and decay (D) Smouldering and ignition

Why are dust explosions particularly dangerous in industrial settings?

(A) They produce large amounts of toxic fumes

(B) They occur without requiring any ignition source

(©) The rapid combustion of fine particles can create shockwaves and secondary explosions
(D) They happen only in open spaces with low oxygen concentration

Which of the following is best describes the flammable range?

(A) The concentration range of gases between the lower and upper flammable limits
(B) The pressure range at which gas combustion is possible

(C) The temperature range burning gases at which fuel burns most efficiently

(D) The speed at which a gas ignites under pressure

Which type of discharge is generally poses a greater hazard in dispersion events?

(A) Non-pressurized liquid discharge (B) Pressurized liquid discharge

(O) Solid discharge (D) Gaseous discharge at low pressure
What causes a jet fire?

(A) Combustion of solid fuels

(B) Ignition of a flammable fluid releasing from a pipe or orifice

(C) Ignition of flammable liquids only

(D) Spontaneous combustion of gases
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222.

223.

224.

225.

226.

227.

228.

229.

What is a significant characteristic of fireballs?

(A) They last for extended periods and are easy to extinguish

(B) They produce large amounts of thermal radiation that can transmit heat to surroundings
(C) They only occur in laboratory settings

(D) They do not produce any significant heat energy

The ALARP principle is primarily concerned with:

(A) Increasing risks to improve efficiency

(B) Ignoring risks in favor of production speed

(C) Eliminating all risks completely

(D) Reducing risks to a level that balances cost, time, and effort

Which of the following is NOT a characteristic of an accident?

(A) It includes the magnitude of the events (B) It refers to the occurrence of events only
(CO) It produces unintended loss (D) It can involve a sequence of events
What does the term “consequence” refer to in risk management?

(A) The likelihood of an event occurring

(B) The costs associated with safety measures

(€) The measure of expected effects on the results of an incident

(D) The frequency of past accidents

Which formula is best describes risk?

(A) Probability of occurrence X Severity of consequences

(B) Probability of occurrence — Severity of consequences

(C) Probability of occurrence + Severity of consequences

(D) Severity of consequences / Probability of occurrence

In risk analysis, what elements are typically estimated?

(A) Hazard, their probability of occurrence, and combination of both

(B) Only the financial impact of hazards

(C) Past accidents and their impact

(D) Employee performance metrics

How would increasing the burning time, while keeping the amount of fuel constant and assuming
its calorific value remains unchanged, affect the average heat release rate?

(A) It would double the heat release rate

(B) It would reduce the heat release rate

(C) It would have no effect on the heat release rate
(D) It would increase the heat release rate

Among the fire growth rates for t-squared fires, which one exhibits the highest fire intensity
coefficient?

(A) Slow (B) Ultrafast
(C) Fast (D) Medium
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230.

231.

232.

233.

234.

235.

236.

237.

238.

239.

240.

Which technique is used to identify hazards through a qualitative review of possible accidents
that may occur?

(A) HAZMAT (B) FMEA
(C)HAZOP (D) JSA

What is the term for the temperature at which a liquid fuel forms a mixture corresponding to the
lean flammability limit due to its vapor mixing with ambient air?

(A) Fire point (B) Auto-ignition temperature

(©) Flash point temperature (D) Boiling point

Which phase of fire development does the t-squared fire model specifically focus on?
(A) Pre-flashover (B) Post-flashover

(C) Smoldering phase (D) Extinguishment

What does a low-resistance earth connection ensure?

(A) Increased voltage (B) Enhanced insulation

(C) Efficient current flow to ground (D) Reduced power consumption

Which of the following is a common method of non-destructive testing?

(A) Fire testing (B) Tensile testing

(C) Chemical analysis (D) X-ray testing

Which NDT method uses sound waves to detect internal flaws in materials?
(A) Magnetic Particle Testing (B) Radiographic Testing
(C) Visual Inspection (D) Ultrasonic Testing

What is the primary function of cathodic protection?

(A) To enhance electrical conductivity (B) To increase temperature resistance
(©) To prevent corrosion of metal surfaces (D) To improve magnetic properties
In cathodic protection systems, what role do sacrificial anodes play?

(A) They enhance electrical insulation

(B) They corrode preferentially, protecting the main structure

(C) They increase the conductivity of the surrounding environment

(D) They strengthen the base material

Which of the following systems would benefit from both earthing and cathodic protection?
(A) High-voltage power lines (B) Solar panel installations

(€) Underground pipelines (D) Overhead transmission lines
Which document is typically used to perform a ‘Material take-off’?

(A) Change Order (B) Project Schedule

(©) Bill of Quantities (D) Safety Plan

Which software tools are commonly used for performing material take-offs?

(A) Word processors

(B) Presentation software

(C) Graphic design software

(D) Spreadsheet applications and specialized software
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241. What type of lines are typically used to represent the x and y axes in isometric drawings?

(A) Horizontal lines (B) Lines at 30 degrees to the horizontal
(O) Vertical lines (D) Lines at 45 degrees to the vertical
242. Isometric circles in isometric drawing appear as which shape?
(A) Squares (B) Ellipses
(C) Triangles (D) Circles
243. What is the primary purpose of computer simulation in fire protection?

(A) To analyze and predict fire behavior and spread

(B) To create artistic representations of fire

(C) To design buildings without fire safety considerations

(D) To replace fire safety codes
244. What is the significance of validating a fire simulation model?

(A) To ensure the model runs faster

(B) To reduce the amount of data needed

(C) To make the simulation more complex

(D) To confirm that the model accurately represents real-world scenarios
245. Which of the following is an example of removing the ‘heat’ side of the fire tetrahedron?

(A) Smothering the fire with a blanket

(B) Applying a fire extinguisher that cools the fire

(C) Using foam to isolate the fuel from the oxygen

(D) Allowing the fire to burn out naturally

246. Which of the following is an example of a chemical oxidizer that can release oxygen and sustain
combustion?
(A) Methane (CHy ) (B) Ammonium nitrate (NH, NO;)
(C) Sodium chloride (NaCl) (D) Carbon dioxide (CO,)
247. At concentrations above 15% methane in air, methane will not burn because:
(A) The mixture is too rich (B) The temperature is too high
(C) The mixture is too lean (D) There is insufficient oxygen

248. According to NFPA 921, what are fire effects?
(A) The process of fire suppression
(B) The chemical reaction between fire and oxygen
(€) Observable or measurable changes in a material due to fire

(D) The process of fire ignition

249. What is the main component of soot produced from the combustion of carbon-based fuels?
(A) Hydrogen (B) Oxygen
(C) Carbon (D) Nitrogen
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250.

251.

252.

253.

254.

255.

256.

257.

258.

Discoloration as a fire effect is caused by:

(A) Increase in temperature and phase change
(B) Physical deformation

(C) Smoke deposition

(D) Soot accumulation

Which of the following factors can be determined by the depth of calcination in gypsum board
during fire?

(A) The intensity and duration of heat exposure

(B) Time of ignition

(C) Ventilation and humidity levels

(D) The chemical composition of the wall

Spalling is mostly observed in which type of fire-affected material?

(A) Insulation material (B) Concrete and masonry

(C) Plastics and polymers (D) Electrical wiring

Inverted cone patterns are mostly associated with which type of fire behavior?
(A) High HRR fires that reach the ceiling

(B) Rapidly spreading fires with high flame intensity

(C) Low HRR fires that do not reach the ceiling

(D) Explosive fires with high pressure waves

In a flash fire, where does the greatest destruction usually occur due to fire?
(A) At the ignition source

(B) Where the flash fire encounters a secondary fuel load

(C) Where the fuel-air mixture is ignited

(D) In the upper areas of the room where heat accumulates

Which of the following phases occurs first during a blast pressure front?

(A) Negative pressure phase (B) Positive pressure phase

(C) Equilibrium phase (D) Thermal phase

Which of the following is NOT happens during the negative pressure phase of an explosion?
(A) Gases and air rush back to the origin of the explosion to equalize pressure
(B) Can cause secondary damage

(C) Has considerably less power than the positive pressure phase

(D) The debris and materials are pushed further away from the point of origin
How does carbon monoxide (CO) affect the human body during inhalation?
(A) It burns the lungs, causing thermal injuries.

(B) It neutralizes other toxic substances in the blood.

(C) It accelerates cellular respiration, increasing energy levels.

(D) It binds to hemoglobin, reducing the oxygen-carrying capacity of the blood.
What is the primary cause of death in cases of acute hyperthermia?

(A) Rise in blood temperature (B) Direct burns from heat

(C) Oxygen deprivation (D) Dehydration
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259.

260.

261.

262.

263.

264.

265.

266.

267.

What is hypoxia?

(A) Condition caused by overheating of the body

(B) Condition caused by breathing a reduced oxygen atmosphere

(C) Condition caused by carbon monoxide poisoning

(D) Condition caused by exposure to toxic gases

Why is it important for a fire investigator to consider the fragility of evidence?
(A) To determine its weight before packaging

(B) To minimize damage or alteration during collection

(C) To decide the sequence of collection

(D) To record the evidence in the report

Which of the following is best describes the spread of a wild-land fire?

(A) Controlled and slow (B) Unplanned and uncontrolled
(C) Unplanned and controlled (D) Planned and uncontrollable

Who is the Chairperson of the National Disaster Management Authority (NDMA) as per the DM
Act 2005?

(A) President of India (B) Home Minister of India

(C) Chief Justice of India (D) Prime Minister of India

Who nominates the member of the National Disaster Management Authority (NDMA)?
(A) The Chairperson of NDMA (B) The Home Minister of India

(C) The President of India (D) The Vice-Chairperson of NDMA

What is the primary responsibility of the National Authority as per the National Disaster
Management Act?

(A) Executing disaster management plans

(B) Providing immediate relief to disaster victims

(€) Laying down policies, plans and guidelines for disaster management
(D) Coordinating state-level disaster response teams

Who may be included in the advisory committee formed by the National Authority as per DM Act
2005?

(A) Experts in disaster management with practical experience
(B) Government officials only

(C) Members of the military

(D) Citizens affected by disasters

Who is responsible for preparing the National Plan for disaster management as per DM Act
2005?

(A) National Executive Committee (B) National Authority

(C) Prime Minister’s Office (D) State Governments

Who approves the National Plan for disaster management as per DM Act 2005?
(A) The President of India (B) National Executive Committee
(C) National Authority (D) State Authorities
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268.

269.

270.

271.

272.

273.

274.

275.

276.

Who is the ex-officio Chairperson of the State Disaster Management Authority?
(A) Chief Secretary of the State (B) State Executive Committee Chairperson
(C) Chief Minister of the State (D) Governor of the State

Who serves as the Chairperson of the State Disaster Management Authority in Union territories
without a Legislative Assembly?

(A) Prime Minister (B) Chief Secretary

(C) Governor (D) Lieutenant Governor or Administrator
Which of the following is NOT a function of the National Institute of Disaster Management?
(A) Developing training modules for disaster management

(B) Approving plans prepared by state authorities

(C) Formulating a human resource development plan for disaster management

(D) Providing assistance to state governments in policy formulation

Who is vested with the command and supervision of the National Disaster Response Force?
(A) Chief Secretary of the State

(B) Director General appointed by the Central Government

(C) Chairperson of the National Disaster Management Authority

(D) Secretary of the Ministry of Home Affairs

What is the punishment for obstructing an officer or employee of the Central or State Government
in the discharge of their duties under the Act without reasonable cause?

(A) Imprisonment for a term up to 1 year or fine, or both
(B) Fine only

(C) Imprisonment for a term up to 2 years or fine, or both
(D) Warning with no penalties

Which Indian Standard covers the selection, installation, and maintenance of first-aid fire
extinguishers?

(A) IS 4862 B)1S 2190
(C) IS 11833 (D) IS 15683

Which Indian Standard specifies the performance and construction requirements for portable
fire extinguishers?

A)1s 15683 (B) IS 4862
(C) IS 11833 (D) IS 2190

Which Indian Standard specifies the requirements for portable fire extinguishers for aircraft,
Halon 1211 Type?

(A) IS 15683 (B) IS 4862

(O) IS 11833 D) IS 2190

What is the recommended colour for clean agent fire extinguishers?
(A) Red (B) Black

(C) Green (D) Yellow
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2717.

278.

279.

280.

281.

282.

283.

284.

Which of the following actions should be avoided to prevent damage to a hose?
(A) Storing the hose in a cool, dry, and well-ventilated place

(B) Exposing rubber-lined hoses to high temperatures to dry

(C) Ramping hoses that are laid across roads

(D) Avoiding sharp bends in the hose

What is the primary purpose of adaptors in fire fighting equipment?

(A) To increase the water pressure in the hoses

(B) To filter out impurities from the water

(C) To enhance the flexibility of the hoses

(D) To connect suction hoses and/or delivery hoses, or hose-reels

According to IS 2097, which of the following foam-making branches has a flow capacity of 450
liters per minute?

(A) FB 5X (B) FB 20X
(©) FB 10X (D) Inline foam inductor

As per IS 4571, the total mass of aluminium extension ladder having length 10.5 m used for fire
fighting shall not exceed

(A) 10 kg (B) 48 kg
(€) 30 kg (D) 20 kg

A crosspiece that spans the two beams of a ladder, serving as a step and transferring the user’s
weight to the beams, is called a

(A) Tip (B) Rung

(C) Roof hooks (D) Butt

Which of the following care and maintenance activities should be performed for small gear?
i. Check for rust

ii. Clean and polish carefully

iii. Prevent contact with oil or solvent

Choose the correct option:

(A) i, ii and iii (B) ii and iii

(O) i and iii (D) i and ii

In which type of breeching, there shall be a female fitting (single) on the outlet side and male
fittings on the two inlets?

(A) Dividing breeching (B) Controlled Dividing breeching

(©) Collecting breeching (D) None of the above

Where a goose neck branch is typically attached in a fire fighting setup?

(A) Directly to a fire hydrant (B) To a line of hose in place of a branch
(C) To a fire engine’s water tank (D) To a high-pressure water pump
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285.

286.

287.

288.

289.

290.

291.

292.

What is the difference between soft suction hose and hard suction hose?
(A) Soft suction hose is for drafting water, while hard suction hose is for pressurized water
(B) Soft suction hose is for domestic use, while hard suction hose is for industrial use

(C) Soft suction hose is used for high-pressure water, while hard suction hose is for low-pressure
water

(D) Soft suction hose is used for pressurized water, while hard suction hose is for drafting water

Which type of hose would be best suited for forest fire fighting where heat and durability are
concerns?

(A) Booster hose (B) Non-percolating hose
(C) Suction hose (D) Percolating hose

What is the primary function of the jacket in fire hoses?

(A) To deliver water

(B) To provide strength to withstand high pressure

(O) To transport foam

(D) To prevent water from freezing

What is the function of a jockey pump in a fire pump system?

(A) To provide the main water supply

(B) To cool down the fire pump

(C) To maintain system pressure when there is no fire

(D) To pump foam instead of water

What triggers the activation of a fire pump in a fire protection system?
(A) An increase in ambient temperature (B) A drop in water pressure
(C) Manual activation by a fire officer (D) A smoke detector signal
How is the ‘Power Take-off (PTO)’ engaged in a fire tender?

(A) Automatically when the engine is started

(B) By turning off the vehicle’s main engine

(C) Through the operation of the fire tender’s hydraulic system

(D) Manually using a control switch in the driver’s cabin

What is the primary function of the ‘Power Take-off (PTO)’ in a fire tender?
(A) To transfer engine power to operate the fire pump

(B) To generate electrical power for the fire tender’s equipment

(C) To supply hydraulic pressure for the water hoses

(D) To control the lights and sirens on the fire tender

According to IS: 15105 (2002), the number of sprinklers in one installation shall not exceed the
in high hazard;

(A) 500 (B) 1000
(C) 1500 (D) 2000
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294.

295.

296.

297.

298.

299.

300.

What is a primary advantage of using gas-based fire suppression systems over water-based systems?
(A) They are better suited for sensitive electronic equipment

(B) They are more cost-effective

(C) They are simpler to install

(D) They have a lower environmental impact

According to National Building Code, match the following classification of buildings under fire
prevention:

List I List IT
a. Group E 1. Institutional
b. Group G 2. Residential
c. Group A 3. Industrial
d. Group C 4. Business
(A)a-2,b-1,c-4,d-3 B)a-4,b-3,c-2,d-1
C)a-1,b-4,¢c-3,d-2 D)a-3,b-2,c-1,d-4

What feature of an amplifier is crucial for ensuring that messages are clearly heard over a loud
emergency environment?

(A) Frequency response (B) Power output
(C) Signal-to-noise ratio (D) Signal input

Water flows in a 10 cms. diameter pipe at a velocity of 0.75 m/s. The mass flow rate of water in the
pipe is;

(A) 353 kg/min (B) 209 kg/min

(C) 88.4 kg/min (D) 44.5 kg/min

Which mechanism is typically used in a hydraulic spreader to perform its function?
(A) Manual force with a lever (B) Hydraulic fluid pressure

(C) Pneumatic pressure (D) Electrical motor power

Which of the following is a cutting tool designed specifically to cut through heavy timber?

(A) Circular Saw (B) Sledgehammer

(C) Shovel (D) Crowbar

Which one is NOT an assumption involved with the Bernoulli equation?
(A) No elevation changes (B) Incompressible flow
(C) Steady flow (D) Irrotational flow

What is the flammable range of methane in air?
(A)5% to 15% B) 0.5% to 15%
(C) 10% to 20% D) 1% to 12%
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